EPHSHENERNFERSSEESGETR 1 DBRFEEE 20 19 #

HEANE . 1,680 Bf . AT ENF=HE : 0113.12.24

H|E|X| TXHASMA | X |BISE—)RESBRM| X | BEASmA |X| SERSHEA K
MIrIZ & © [BE|B| # © (82 |B| # N (82 |3 % N (&= % A
1| & | K|(RETEW | 185 | @ |/EFR 84 | B |/hBXEBH | 137 | £ |BRUEL | 30 |ER1S
BlR|R|BHET®WE | /8 | ¥ | LAR%SE | 18 | # [HEK KPEFNTE | 16 |[BERTE%
2 | &R %‘$?¢TL 25 | B |AlzEEAE | 10 | /) [MRmEEE 6 | B [HRASE 9 /K15
H K|ALMEME | 8 | & |[EBfFEE | 1.2 2 | A% E 48 |IDRDRERE
A PAZPS 2 | IR |WEA 1 | % LN 5 |MYEHRER
L BHEREM | 14 MHET#3F | 15 T B 9
= 1 eI E 5
A =N 3 |AE:1,680
1|/ | = |BfetEE | 24 | & |AEEEW | 100 |7 |BESEX | 134 | & |#E1C 33 |45 E
B k|| REERGT | 67 | #i |EMEFE | 0 | & |[AEF4#E 5 | 45 |EEE 5=
38R | [BBEQREIAE| 16 | ¢ (& 2 | & MRk 2 | &% |_®War— | 208
= k [KBFREH | 208 | F[FB/NTE | 15 | B |BREEH 5 | g [MEREE | 15
B “AzEEP] | 10 B Fo
h LEEES | 12
T 2
3 2 AEL:1,680
BREEEE ¢ ZERR - BEHE - B 20-25% ; SHET BT 887 30~35% ; HEST  FMIT 45~50% - BT EKE 30~-50%(BRENBMAEMEE) - NEZB(NAE  HE - BIE - BES)36% ;

BERB(SEX - KEX - BOARE)2~3% ; TEE(EM - SR - KER - %4/1%)2~3% °

FTHEASEEA



2

— B

ETHEHE RN TR eSS ERETR 113824 EE 2015 20 A
BAEAE : 1,680 B AFT ENZ=HYR . 0113.12.24
H|IE|%| TEHASHEMA | X |3 HSHA| X | HEASHEA | X | SEASHEA KR
MIRrRIB M ® (82 |3 # R (82 |B # & [H=2|&| ¥ & [H=2| & #
1| & |8 |4HERB | 48 | 8 |BEWmmER | 16 |m | EEERE | 140 | & |8BT&aE | 21 |[KR
BlBE|F|EATEE| 60 |®[HRAGE | 12 | & & 1 | & [SHEESE 1 |%ER
6 | B8R | 30 [wriz 1 |0 | SE=EtEB | 65 | B (8B | 10 | ([ER 1 |BRZEK
H W | ER 2 | w|aEEHEE | 5 | % % |/ 217
i HAkE=1 | 28 ENEEEYER ZNFTiE | 52
— wHEME | 12 o
BT 60 BROE | AE:1,680
1| E| g |BBRTEE | 130 | & | KEINER | 9% B | #EHFE% | 120 | B@|/BEEE|] 9 |HREBRRE
Bl% |y [BEEUE | 30 |L[BEEEB | 16 | &A%k 7 | = [EEEAT | 30 lioseos607is
A AR I ) | |[AEEHE | 8 | |[EXUKRE| 2 | =|[BAEE 9
= 2 (2fBHR3E | 6fF | @ (REAAEH 6 | | LARA%EE 9 | B |4ETK]T 5
i £ 1 o 1 SmR—F | 282
- TRER 21 BMER 1680 AE0:1,600
1 EF|HEFTEE | 21 BEBABE  |1700pc| 22 |BEmSEE | 136 | N |8 1680pc| B#EK90
B ¥ (|EKREL | 15 | & [/FC 15 | 4 [F 1 | & |BE4% 72 | AtRk30
8 % |SEXt)B | 50 || [&E 2 | m[EEREEW | 6
H =AU 5 | HE E3
A W | REERE |28
= FEEEW | 12
AT 2
EHBERE 9 AEL:1,680
1| E|E|BRTaE | 117 [Z(28)TE | 50 |# |EESEX | 136 | 0 |#Roms | 11§ [BERtass
B | # | B |MILNEF 54 | mk [#R1CQR3KE| 68 | & MK 2 | R |KE=1F | 38
9 | 8 | ¥E |BZ ik 06 | iR |ERUEL | 45 | 5 [BEER/NRZE 6 | k(& 2 | =R
H % |REH K GE 3t | 5 |BELC 9 | = w (B2 B o 06 |ASEEL3
i BEHMNA | 98 AN 8 | % s FEENTE | 16 |85
DAY EFFED D A 3 o 1.5 FABEE | 12 |KRZE/NELS
= 2 ANE:1,680
1| &’ [FEakE | 0 |5 | AREEH | 2 |2 |BEEEAR | 138 | & |[EE R [4MERT
Bl |6 |BRETRE | 48 | 2 |35E 10 | 3t [WE#% AN S 3 |y iss
108k | 2 |[ANE#EW | 15 | % E%i’EHE 9 | i |ERFATEIE 6 | 3 |KBETEER 3 |mosass
H o |AlExS | 0 |E|[BTEREEZ] 6 | A ElfEK 12
B =B Eﬂ%?ﬁﬂz.szi 9 |x REREK | 3
il AR t)E _WEE— | 208
RIE 7 B
ENWOR | 20 e
EEEEEW | 15 o AEL:1,680




ETHSHENERNFERSEESGETER 1 DBRFEEE 20 21 #

HEANE . 1,680 Bf . AT ENF=HE : 0113.12.24

H|IE|%| TEHASHEMA | X |3 HSHA| X | HEASHEA | X | SEASHEA K
MIRrRIZB M & (82 |3 # F [82 |8 ¥ & [&2|&] ¥ B [&= % &
1| %35 ([HERAGE | 99 | 1E |ZIEHE 60 | |BESE | 134 | 77 [FHRLCIE | 38 | KR
BlR|ZE|ETJTIEE | 48 | g |MRizEwH 6 | & [HHFA ¥ | BRTeE | 18 |&EAR
13| R | A |ALEECK ft |AlzEERiE S [BRNRZE 5 | #|[ER 15 |RBZhzt
H & | KEBIEE 6 |88 |% 15 | & 5 | BB 3
]| EEQRBIZ| 15 KE #4384 3 | %
— FTRARBE | 15
BiE2%EEa | 60 AEL:1,680
12| & AR 1700pc| fE |/FFTE 50 | 22 |BFERmIEE | 136 | K |k A 12 |5 RME
B || 8 |MEm—F | 228 | R |SREL | 30 | 4 [ 1 |t [SEEE | 40
14| 8| B |BmeH 2 REESES 6 S | AR R B 6 2 FEEEE 3
= & |k 3 | e |AEE/NT | 10 | % HEAGE | 12
i = A4 1 ES 15 e 1
- M 2 e e 0.6
HEAGE | 12 AT 1
T 1
EFEIRE 5
AEESEEYE] 8 | A#:1,680
1 = |Bh%m 200 | Jx |ZEBE/NEE |1680pc| 7 |BEREE | 140 | & |BEAER/D | 30 |ETREY
B = (RBRiugLX | 30 | & |[=ER 15 | & & 1 | RPEFNTE | 12
15 = |[HMRASE | 24 | B |mC 15 | (|eeteEE8M | 10 |2[FERNTE | 10
= A |FEDPTE | 30 +=&Fo| 18 | % S EESEEN | 12
] R |ALZEE/NT 5 HRZARE 6
= % [IR{CQR3IKE| 78 YN 5
LR E 48 BNiET B 9
TLBEIES 5 AE TN 5
BRNRE | 12
Tn AT 3 AEL:1,680
14| = |BRTEE | 132 | W |Eh=S/E8 | 285 | 7 |BEWESE | 136 | &t [Z0A4% 1.8 |RAAEME
B | & | & 7R 12 | 2= |HERAGE | 15 | & | 1 | & (BEREW | 40 |42
16 | BR | % |[WE4A 15 |g|:KNEL | 9 |W@|EFERE| 9 |7 |BFme 1|8k
H TIBAZERE | 2 | B |& 15 | A THEEaE | 21
il AR t)E 5 AREN 3 kol FRl_ 1.5
i S 5
FEURE | 30 AEL:1,680
1|+ | % |&/)Hk 6 | 2 Z“é*’ﬁ%'iﬂ-i- 1300pc| B |BUBES | 110 | 4 |#2 15 |4y3ksE el
B | & | M |HESE 1 |5 |[BR&EE 28 | # [MHFK 1 | 5 |[BEME/NE | 26
17 |8k | 89 | 2R 12 | # (& m(EEEEEN | 4 | [_RERE— | 208 p.6FEMF
H T IRINKTE]|] 65 | wl|mk L] TR | MO E] 9
i AR & 40 | | {WEAEH US| 3 =] % | FE 9
il AZEEN] 5 = ANE:1,680




ETHEHE RN TR eSS ERETR | 13B8FEREFE -2 22

BAEAE : 1,680 B AFT ENZ=HYR . 0113.12.24
H|IE|%| TEHASHEMA | X |3 HSHA| X | HEASHEA | X | SEASHEA K
MIRrRIZB M & (82 |3 # F [82 |8 ¥ & [&2|&] ¥ B [&= % &
1| % | KBEYE | 50 | M|FEIK 1408 | B |BERFEBE | 136 | A |FEKXKTE | 20 [EAR
Bl R | |AETSRE 5 | B A 2| (mEA 1 | 58 [AESEEXR | 54 [KR
20 | &R | #E |HHEESET (267 | £ |MEH—F | 18 B EA i B W 6 | X|ERER 21
H #3RWITae | 339 | |/\BiNE | 18 | & i |EzEL R A4 1.5
i FRI&® | 51 | 3% I HEZKA 9
— ] - gz=I~] | 10

Rz SEXEYE | 2

BX

EEQREI&Z| 10

s+ 24 AEL:1,680




